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(a) (b) (c) (atb+c)
I BEODE
1 RBEE
HewEe
L@EES A40,000,000 1,104,132, 928 A41, 363, 442 1,022, 769, 486
ENES 0 575, 531, 265 0 575, 531, 265
B 0 28, 595, 271 0 28, 595, 271
HEEES 0 A3, 720, 300 0 A3, 720, 300
REEESE(A) 40,000,000 1,704,539, 164 A41, 363, 442 1,623,175, 722
2 EEEE
(1) EXRBE
B - BT 0 0 100, 000, 000 100, 000, 000,
K - BF 0 0 200, 000, 000 200, 000, 000
ZHRAE - RITHT 0 0 100, 000, 000 100, 000, 000,
KEES - K& 0 0 200, 000, 000 200, 000, 000
RKMARY R b+ 0 0 168, 274, 300 168, 274, 300
EXBESET(B) 0 0 768, 274, 300 768, 274, 300
(2)BEEE
WHEEEIEE 0 857, 296, 818 0 857,296, 818
BEEAEILERE 0 4, 820, 250 0 4, 820, 250
HEEESE(C) 0 862,117, 068 0 862,117, 068
(3)ZTDDEEEE
FIRRIT EH 0 200, 000, 000 0 200, 000, 000
KHMRI R+ EH 0 300, 000, 000 0 300, 000, 000
&Y 0 1,315, 550, 755 0 1, 315, 550, 755
EMTERR 0 174, 215, 376 0 174, 215, 376
BEY 0 7,171,832,215 0 7,171,832, 215
HimEE 0 237, 676, 020 0 237, 676, 020
1+ 25 % & 0 89, 174, 205 0 89, 174, 205
T 0 1,057,494, 287 0 1,057, 494, 287
B EE 0 10, 238, 400 0 10, 238, 400
VAN 0 37,714,711 0 37,714,711
BEMAE 0 542, 640 0 542, 640
HES 0 20, 000 0 20, 000
RHARTILE 0 9,383, 648 0 9,383, 648
RIZTEIL S 0 9,439, 627 0 9,439, 627
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(a) (b) (c) (atbc)
ZTOMEEEESE (D) 0/ 10,613,281,884 0 10, 613, 281, 884
BE&EESF (E=B+C+D) 0| 11,475,398, 952 768, 274, 300 12,243, 673, 252
BEESF (F=A+E) A40,000,000| 13,179,938, 116 726, 910, 858 13, 866, 848, 974
I BEOH
1 REBAR
KihE 0 295, 140, 370 12,020 295, 152, 390
RILEH 0 4,195,953 39, 000 4,234,953
-k 0 3, 136, 467 0 3,136, 467
EE55|&E 0 5,915, 378 0 5,915, 378
RIENTFE 0 559, 110, 000 0 559, 110, 000
RIGHERE 0 55, 754, 800 0 55, 754, 800
REBAEA(G) 0 923, 252, 968 51,020 923, 303, 988
2 ExaE
REABASE 0 2,700, 000, 000 0 2,700, 000, 000
BREfST5I5E 0 4, 820, 250 0 4,820, 250
ZARIAE 0 160, 307, 956 0 160, 307, 956
BERESH S 0 20, 710, 397 0 20, 710, 397
BEE&EEF (H) 0 2,885, 838, 603 0 2,885, 838, 603
BESE (1=G+H) 0 3, 809, 091, 571 » 51,020 3,809, 142, 591
Il IEBREAEDE
1 IEEIERREIE 0 0 768, 274, 300 768, 274, 300
HEKBE 0 0 768, 274, 300 768, 274, 300
fEEEREIESET (J) 0 0 768, 274, 300 768, 274, 300
(SEEKRHE~DITLEE) 0 0 768, 274, 300 768, 274, 300
(SEHEEE~DITLEE) 0 0 0 0
2 —ARIERREAE A40,000,000 9,370, 846, 545 A4, 414, 462 9,289, 432, 083
(1) — AR EBREA
— AR IERREFE B ET (K) A40, 000, 000 9,370, 846, 545 A41, 414, 462 9, 289, 432, 083
(D BEXME~DFTELEE) 0 0 0 0
(OB EEE~NDITEEE) 0 857,296, 818 0 857, 296, 818
ERBEA (L=J+K) A40,000,000 9,370, 846, 545 726,859,838 10,057, 706, 383
BERVERMESF (M=1+L) A40,000,000 13,179,938, 116 726,910,858 13,866, 848, 974




